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I took issue with a statement made by ABC this week that said that 20% (one in five) Australians 

had solar power. My point was that 20% of homes/households does not equate to 20% of 

Australians. The major difference is the millions of people living in units/apartments. The ABC 

responded that their article was based on a statement from AEMC below. "For the 20% of 

customers with solar, there could be a range of export charge impacts, depending on system 

size. A 4−6kW system would still earn on average $900 – about $70 less than now”. My point is 

that 20% of customers referred to here relates to homes/households, not people. Is this correct? 

Colin Prebble. 
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